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HPE_CIEF02_X-Zapfen-Empfindlichkeit  Ysum=100
g−F02_X,s(λ) = 2 m−F02_X,1(λ) − l−F02_X,1(λ)

D65: Σg−F02_X,s(λ)=55,64
g−F02_X,s(λ1,m,2)=2,64, 5,30, 2,65

λ1,m,2=498, 530, 570
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HPE_CIEF02_X-Zapfen-Empfindlichkeit  Ysum=100
g−F02_X,s(λ) = 2 m−F02_X,1(λ) − l−F02_X,1(λ)

D50: Σg−F02_X,s(λ)=41,65
g−F02_X,s(λ1,m,2)=2,54, 5,09, 2,54

λ1,m,2=501, 535, 571
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HPE_CIEF02_X-Zapfen-Empfindlichkeit  Ysum=100
g−F02_X,s(λ) = 2 m−F02_X,1(λ) − l−F02_X,1(λ)

P40: Σg−F02_X,s(λ)=32,75
g−F02_X,s(λ1,m,2)=2,35, 4,73, 2,35

λ1,m,2=503, 540, 574
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HPE_CIEF02_X-Zapfen-Empfindlichkeit  Ysum=100
g−F02_X,s(λ) = 2 m−F02_X,1(λ) − l−F02_X,1(λ)

A00: Σg−F02_X,s(λ)=17,51
g−F02_X,s(λ1,m,2)=2,10, 4,23, 2,11

λ1,m,2=507, 545, 576
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HPE_CIEF02_X-Zapfen-Empfindlichkeit  Ysum=100
g−F02_X,s(λ) = 2 m−F02_X,1(λ) − l−F02_X,1(λ)

E00: Σg−F02_X,s(λ)=51,78
g−F02_X,s(λ1,m,2)=2,45, 4,91, 2,45

λ1,m,2=499, 535, 572
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HPE_CIEF02_X-Zapfen-Empfindlichkeit  Ysum=100
g−F02_X,s(λ) = 2 m−F02_X,1(λ) − l−F02_X,1(λ)

C00: Σg−F02_X,s(λ)=60,22
g−F02_X,s(λ1,m,2)=2,50, 5,02, 2,50

λ1,m,2=495, 540, 572
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HPE_CIEF02_X-Zapfen-Empfindlichkeit  Ysum=100
g−F02_X,s(λ) = 2 m−F02_X,1(λ) − l−F02_X,1(λ)

P00: Σg−F02_X,s(λ)=41,65
g−F02_X,s(λ1,m,2)=2,36, 4,73, 2,36

λ1,m,2=501, 540, 573
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HPE_CIEF02_X-Zapfen-Empfindlichkeit  Ysum=100
g−F02_X,s(λ) = 2 m−F02_X,1(λ) − l−F02_X,1(λ)

Q00:Σg−F02_X,s(λ)=64,12
g−F02_X,s(λ1,m,2)=2,54, 5,10, 2,55

λ1,m,2=497, 535, 571


